EAST POINT SCHOOL
CLASS-VIII
WORK PLAN-AUGUST-WEEK-1
English

ACTIVE AND PASSIVE VOICE

Video Linkhttps://www.youtube.com/watch?v=W1 IRU6zx9g&ab channel=Dr.JodieSalter

Learning Outcomes

o Distinguish passive voice from active voice.
« Convert passive voice to active voice because active voice is usually clearer.

How to distinguish Active voice from Passive voice in simple sentences

In an active voice sentence, an actor acts on a target. That is, an active voice sentence follows this

formula:
Active Voice Sentence = actor + verb + target

A passive voice sentence reverses the formula. That is, a passive voice sentence typically follows the

following formula:

Passive Voice Sentence = target + verb + actor

Active voice examples

For example, here’s a short, active voice sentence:

The cat sat on the mat.
e actor: The cat
e verb: sat

o target: the mat


https://www.youtube.com/watch?v=W1_IRU6zx9g&ab_channel=Dr.JodieSalter

Passive voice examples

By contrast, here's that same sentence in passive voice:

The mat was sat on by the cat.
target: The mat
passive verb: was sat

actor: the cat
Some passive voice sentences omit an actor. For example:

The mat was sat on.
actor: unknown
passive verb: was sat

target: the mat
Who or what sat on the mat? A cat? A dog? A man? Readers can only guess.

How to recognise passive verbs?

Passive verbs typically have the following formula:

passive verb = form of be + past participle verb

A form of be in a passive verb is typically one of the following words:
is/are

was/were

A past participle verb is typically a plain verb plus the suffix ed. For example, the following are past

participle verbs:
interpreted

generated



formed

Unfortunately, some past participle verbs are irregular; that is, the past participle form does not end with
the suffix ed. For example:

sat
known

frozen
Putting the form of be and the past participle together yields passive verbs, such as the following:

was interpreted
IS generated
was formed

is frozen

If the phrase contains an actor, a preposition ordinarily follows the passive verb. (That preposition is often
a key clue to help you spot passive voice.) The following examples combine the passive verb and the

preposition:

was interpreted as
is generated by
was formed by

is frozen by

Why do we prefer active voice over passive voice?

Most readers mentally convert passive voice to active voice. Why subject your readers to extra processing

time? By sticking to active voice, readers can skip the pre-processor stage and go straight to compilation.

Passive voice obfuscates your ideas, turning sentences on their head. Passive voice reports action

indirectly.



Some passive voice sentences omit an actor altogether, which forces the reader to guessthe actor's identity.

Active voice is generally shorter than passive voice.

Exercise
State whether the following sentences are Active or Passive:

Mary makes her bed every morning.

Charlie is writing a letter.

The whole cake was eaten by my brother.
The painting was being made by Joseph.

My mother is going to bake delicious cookies.
The ball was chased by the dog.

| washed my car last week.

| sent the letters yesterday.
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The money was stolen.

10. They had won the game.
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VIDEO LINKS:-
https://www.youtube.com/watch?v=ZaREzA4hOhk
https://www.youtube.com/watch?v=blOnZV6eJ5A
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MATHEMATICS
Cube and Cube Roots

Video Links:
https://www.youtube.com/watch?v=xgvQGWvkMXA
https://www.youtube.com/watch?v=7C8BzbGxTWM

Learning Outcomes:

i. Students will be able to understand the concept of Perfect Cubes.
i. Students will be able to determine whether a given number is perfect cube or not.

Perfect Cube or Cube numbers

A perfect cube is an integer that is equal to some other integer raised to the third power. We refer to
raising a number to the third power as cubing the number.

For example, 125 is a perfect cube because 5% = 125, However, 121 is not a perfect cube because there
is no integer 7 such that n® = 121,


https://www.youtube.com/watch?v=xqvQGWvkMXA
https://www.youtube.com/watch?v=7C8BzbGxTWM
https://artofproblemsolving.com/wiki/index.php/Integer
https://artofproblemsolving.com/wiki/index.php/Number

11 1331

12 1728

We are even, sON _— 13 2197
are our cubes ( ~_ |14 2744
15 3375

16 4096

|17 1913

We are odd, so~N_—" 18 5832
are our cubes 119 6859
20 8000

Cubes and their prime factors
Consider the following prime factorisation of the numbers and their cubes.

)

Prime factorisation Prime factorisation each prime factor
of a number of its cube appears three times -
in its cubes
4=2x2 $=64=2x2x2x2x2x2=2x2
6=2x3 6°'=216=2x2x2x3x3x3=2x3"
15=3x5 153=3375=3x3x3x3x5x5=3*%x5
12=2x2x3 122=1728=2x2x2x2x2x2x3%x3x3
=22 x2'x 3

Each prime factor of a number appears three times in the prime factorisation of its cube. In the prime
factorisation of any number, if each factor appears three times, then the number is a perfect cube
Example:

Q-1) Is 729 a perfect cube?

Sol: 729=3%x3x3x3x3x%x3
Since factors can be grouped in triples.
Yes, 729 is a perfect cube.

Q-2) Is 243 a perfect cube?

Sol:243=3%x3x3%x3x3

In the above factorisation 3 x 3 remains after grouping the 3’s in triplets. Therefore, 243 is not a perfect
cube.

Q-3) Is 392 a perfect cube? If not, find the smallest natural number by which 392 must be multiplied so
that the product is a perfect cube.

So0l:392=2%x2%x2x7x7

The prime factor 7 does not appear in a group of three. Therefore, 392 is not a perfect



cube. To make its a cube, we need one more 7. Inthat case 392 x 7 =2 x 2 x 2 x 7 x 7 x 7 = 2744 which
is a perfect cube.

Hence the smallest natural number by which 392 should be multiplied to make a perfect

cubeis 7.

Activities
Consider the following pattern.
Q1) 2°-13=1+2x1x3
33-28=1+3%x2x3
43P =1+4x3x%x3
Using the above pattern, find the value of the following.
(i) 72— 6° (i) 12° — 113

Q-2) Write the cubes of all natural numbers between 1 and 10

Solve the following Questions:

Q-1) Find the cube of 9 [1 Mark]

Q-2) Find the one’s digit of the cube of 77. [1 Mark]

Q-3)Find whether 53240 is a perfect cube or not? [ 2 Mark]

Q-4) Raj made a cuboid of plasticine. Length, breadth and height of the cuboid are 15 cm, 30 cm, 15 cm
respectively. How many such cuboids will he need toform a cube? [2 Mark]

Q-5) Find the smallest number by which 675 must be multiplied to obtain a perfect cube. [3 Mark]
Q-6) Find the smallest number by which 188 must be divided to obtain a perfect cube. [3 Mark]
Q-7) Find the cube of 7/9.

SCIENCE

Reaction with Bases:

Fo r Metals:
Generally, reaction of metals with bases releases hydrogen gas, like in case of many metals
they react with sodium hydroxide to produce hydrogen gas

For Non-metals:
Generally, reactions of non-metals with bases are complex.

1 DisplacementReaction:
A more reactive metal displaces a less reactive metal from its compound in

aqueoussolution.Such areactionis known as displacementreaction.
Forexample:



(i)When an iron nail is put in a copper sulphate solution, then colour of
solutionchanges from blue to light green and a reddish brown coating of copper
IS seen onironnail.

Fe (Iron) + CuSO4 (Copper Sulphate) — FeSO4 (Iron Sulphate) + Cu

(copper)(Blue) (Green)
(i) IronSulphate+Copper—noreaction
Because copperisless reactivethanironso cannotdisplaceiron

Usesofmetals:

O

[
U
[

OO

Copperandaluminiumareusedto make wiresfor carryingelectriccurrent.
Zincisused forgalvanisingirontoprotectironfrom rusting.
Silver,goldandplatinumareused tomakejewellery.

Iron, copper and aluminium metals are used to make utensils for cooking and
formanufacturingmachinesparts.

Mercuryisused inthermometer.

Lead is mainly used for making electrodes for automobile batteries and for
makingalloys.

UsesofNon-Metals:

1
2
3
4
5.
6
7
8
9

O

OooOdo

O

Theoxygen necessaryfor all livingbeings to survive is anon-metal.
Phosphorusisusedinthe manufactureoffertiliserstoenhancethe growthofplants.
Chlorineis used fordisinfectingdrinkingwater.

lodineisusedasanantiseptic.

Sulphurisused incrackers.
Hydrogenisusedinmanufactureofammonia,industrial chemicals

SCIENCE -VIII
METALS AND NON-METALS -Assignment-2

Name a metal not attacked by cold water,boiling water or steam?
Name one metal that decomposes boiling water and not cold water?
How will you test the chemical nature of magnesium oxide?

. What happens when sodium comes in contact of air?

How aluminum will react with dil HCI at room temperature?

. Why the beaker is hot when sodium is kept in water?
. Why phosphorous is stored under water?
. What happens when coal piece is beaten with hammer?

Which gas is formed when sulphur is burnt?
10. Give uses of non metal in daily life.

SOCIAL STUDIES



Topic:-Chapter 2 — Why do we need parliament

e Sub Topic 1:- Why do we need Parliament
e Why Should People Decide
e People and their Representatives
¢ The Role of the Parliament
Learning Objectives:- Students learn about the Parliament and it’s procedure.

Methodology:-PPT, Video and word file
VIDEO link:-https://youtu.be/Xx-X9JYcuNY

Activity 1:-Debate on “Why we need Parliament ”

Why do we need Parliament

e Parliament enables citizens of India to participate in decision making and control the government,
thus making it the most important symbol of Indian democracy and a key feature of the
Constitution.

Why Should People Decide:
e (i) Independence was long and difficult struggle, they got inspired by the ideas of freedom,
equality, and participation in decision-making.

e (ii) Under the colonial rule, the people did not criticise British government but the freedom
movement changed this situation. The nationalist began to oppose the British government and
make demands.

e (iii) The Constitution in independent India laid down the principle of universal adult franchise i.e,
that all adult citizens of the country have the right to vote.

People and their Representatives:
e (i) A democracy is the idea of consent, i.e., the desire, approval, and participation of people.

e (ii) Itis the decision of the people that creates a democractic government and decides about its
functioning.

e (iii) The basic idea in democracy is that the individual or the citizen is the most important person
and that in principle the government, as well as other public institutions, need to have the trust of
these citizens.

¢ (iv) The Parliament, which is made up of all representatives together, controls and guides the
government.


https://youtu.be/Xx-X9JYcuNY

The Role of the Parliament:

e (i) The Indian Parliament is an expression of the faith that the people of India have in the
principles of democracy.
(i1) The Parliament in our system has immense powers because it is the representative of the
people.
(i) The Lok Sabha is elected once every five years. The country is divided into a number of these
constituencies. Each of these constituencies elect one person to the parliament.
(iv) Once elected, the candidates become members of parliament or MPs. These MPs together
make up the Parliament.

Assignment:-
Question 1
What are the basic ideals of a democracy?

Question 2
What is the purpose of a Parliament?

Question 3
What was the main principle of the Indian constitution?

Question 4
How can all the citizens participate in the decision—making process of the government?

Question 5
Who designed the Parliament house in India?

Question 6
What is an EVM?

Question 7
What is a constituency?

Question 8
Mention the 2 houses of the Indian Parliament.

Question 9
Write a differences between the Rajya Sabha and the Lok Sabha.
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